
Digital Test 1 Review KEY 
 

Convert the following to decimal. 
 
1) 11001012 = _____101________10 

2) 1001012   = _____37__________10 

3) 11110102 = _______122________10 

4) 378    = ________31_______10 

5) 518    = ________41_________10 

6) 58     = _______5_________10 

7) ACE16    = ________2766__________10 

8) 12716    = _______295_________10 

9) B8C16    = _______2956________10 

Convert the following to the given base. Show work on sheet provided. 
 
10) 7510    = ______113________8 

11) 110011112  = _______317_______8 

12) 10111001012    = _______1345________8 

13) 100111110012    = ________4F9_______16 

14) 1101011110002   = ________D78_______16 

15) 1001111100002 = ________9F0_______16 

16) 378    = ________011 111_______2 

17) 2768    = ______010 111 110______2 

18) B3C16    = __1011 0011 1100___2 

19) 19716    = ____0001 1001 0111____2 

 



 
 
 
Write the Boolean Expression at the output. 
 
 
20)  
 

A

B

C  
 

A])CB()BA[( ++  
 
21)  
 
A

B

C  
 

CBB)]B()BA[( +++



Draw the logic diagram. 
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 Draw the logic diagram, and Construct a truth table. 
 
25) CABA +  
 
 

A B C A  B  BA  CA  CABA +  
0 0 0 1 1 0 0 0 
0 0 1 1 1 0 1 1 
0 1 0 1 0 0 0 0 
0 1 1 1 0 0 1 1 
1 0 0 0 1 1 0 1 
1 0 1 0 1 1 0 1 
1 1 0 0 0 0 0 0 
1 1 1 0 0 0 0 0 
        

 
 
 
26) A B + A C 
 

A B C AB AC AB+AC 
0 0 0 0 0 0 
0 0 1 0 0 0 
0 1 0 0 0 0 
0 1 1 0 0 0 
1 0 0 0 0 0 
1 0 1 0 1 1 
1 1 0 1 0 1 
1 1 1 1 1 1 
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Predict the output with the given inputs.  
Answer should be a 0 or 1 
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